HW#6 Solutions
Ch. 6 Problems:
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[b] The fractions (¢o1/¢1) and (¢ra/bo) are by definition less than 1.0,
therefore k < 1.




Ch 9 Problems:
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Solving,

L=10-jI54; I =-5A

18.03c0s(10,000¢ — 56.31°) A

i1 = 5eas(10,0000 — 180°) A
M _0s
VLI~ Vi
fe] When ¢ = 50 s,
10,000¢ = (10,000)(50) x 10°° = 0.5x = m/2rad = 90°
iy(50mps) = 18.03 cas(90 — 56.31°) = 15A
A

(b] k=

i1(50my1s) = 5 cos(90 + 1807

(1% 107)(157 +0+0 = 1125m)

LT -
w= gl + Lo} + Mivia =

%(1 100000+ (1% 10793 +05 % 10°%(-10)(5) = 3751
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[b] Zi (min) = 120 +240(0.32) + {250 — 0.32(320)]
96.8 + j147.6 = 246/36.57° 2
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1 () = FipesTe
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Note — You can test that the & value obtained from setting d|Zy|/dt = 0
Teads to a minimum by noting 0 < k < 1. Ik = 1,

=15/ 3657 A

Zin = 300 — 570 = 366.74/ = 11°0
Thus,
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k=0,

Zi = 1201+ 1250 = 277.31/64.36° Q
Thus,

|Zialk=o > | Zuale
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